Lifetime data analysis
These notes are based on the description given in Hjorth (Section 6.6.1)

The data below give the failure times (Death) of components. The other times are censoring times, with the censoring being also random because they are due to failures occurring in other parts of the system.

	Time in 1000 hours

	2.472
	 

	0.983
	D

	1.339
	D

	1.435
	 

	1.229
	D

	3.11
	 

	4.711
	 

	0.413
	D

	6.113
	 

	0.115
	D

	0.392
	D

	2.6
	D

	2.8
	D

	3.002
	 

	0.865
	 

	0.7
	D

	1.456
	 


Let xi be the failure (death) times and yj be the censoring times.

Suppose that the Weibull distribution is to be used for the failure times:
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with a, b > 0.
Suppose that a second Weibull distribution is to be used for the censoring times:
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with c, d > 0.
The survival probabilities for the two distributions are:
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The loglikelihood is therefore
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The quantity of interest is the probability that a component will survive h hours.
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